Chel o

A3 A ={1,3,5,7} °12 ANB = {1, 3}, AUB = {1,
3,5,7,9, 11} & wf, J3t B o] Y4o] T Fatolzt,

3t A, B ol diste]

n(A) = 16, n(B) = 11, n(AUB) = 21 & T,
n(ANB) =7

D5 @ 6 ®7 @ 8 ® 9
AT A = {o]os 2500 59 81} B =
(z]|2E13 <z <159 4} & o, n(A) —n(B) 9

=

= A = {z|ze2494¥5}, B
{02 0] W2} ol kel 4 ¢ B 2 o, O
of e A B AelA] Fojolet

Z] @—

<

HAAASE U o REXHT A o tiste] o2 F 2 A
B2 ALY

D AnA°=¢ @ AUuU=U

® ¢¢ = @ ANU=U

® (A% =4

__?_:]_

Hek A {2, a, {a, b}.{c, d, ¢}}, B
{o| o129 &5} D W, n(4) + n(B) & T3]

2t

© Hohe g @ A= Ao B
© 1 Heh 232 Bep 2L a4 1Y

@ 79 o] 2

@ 4= 30341 °fl et Q= 5=2te] 1l

@ 17 @ 27 @ 37

@ 4 A ® 5 7
A A={1,2 3} € o, o5 B7] & &4 &2
e % =Ee

B7]

Q {0}cA ©ocA

©®o0¢gA @ A¢ {2 3, 1}

@ {1}cA @ {0, 1} ¢ A




10.

11.

12.

o a] grof| A W7 A RS 711 Qe L 20 I
o], gk A WAFE 7HA 3 Gl B 15 etk
a8 w7 A pzet b2t A nzE nE s 1
Q= 2 5 golet & off, WXE A EAbu; gk A
na = Aol | S AT Y= SHYL = o

HAIA] Fsteq 2t

{o | o= T Ael0] 24

°of & FEHE A B o distd A =
{z|z+= 10 olste] &5}, n(ANB) =0, n(AUB) =9
d o, A% B - A& 5ot

AAYE U ©) FHo] ofd T REYF 4, B ol ]
5te] (ANBC)U(BNAC) =

B @
S YE BF u=? (Y

@ n((AUB)—n(ANB))
@ n(2)
® n(B)—n(A)
@ n(4)

® n(B)

A At A, B, C ° "5t n(A) =
8, n(C)="7,n(ANB) =3, ANC =2,n(BNC)=3
A, n(AuBUC) 9 #= Fatoz)

13. A A 4, B, Ceo| tisto

14. &

n(A) = 15, n(B) =
8, n(C) =17, n(ANB) =3, n(BUC) = 12, AnNC =
o4 W, n(Au BuUC) 2] 3 Fstolzt

A& A={3,6,a+2,10}, B={2xa,3,b,5} °l
st Ac B,BCc AL W, a+b 2 S F5tol=t.

= {z|z= 20H0 22 29 Wi} | B =
{:r:|ac 20Kt AL 49] HH_,_} 7} 9l

olm, X -A=0,XNB=g & W= JF X
o] 75 F-stofzt.




